Large Numbers

1 5 B 1 Numbers Greater than 20 (1)

C"@m Count them and write the numbers in the

-------------------- Make groups of 10 oranges.
How many groups of |10 are
there?

There are 5 groups of |0.
The answer is 50.

There are 4
groups of 0.
Therefore, the
answer is 40.

40 | spoons

Pay attention to how many groups of |Q. If there are 4,
it is 40 (forty). If there are 5, it is 50 (fifty). Also there
are 60 (sixty), 70 (seventy), 80 (eighty) and 90 (ninety).

Count them and write the numbers in the
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i Large Numbers A
L1 5 B 2 Numbers Greater than 20 (2) )

—»[3EE Write the numbers in the

@m@@&

There are groups of 10 eggs and| 3 |extra.
Altogether it makes | 43 |. Answer | 43 | eggs

) i “43” is forty-three. G
Write the numbers in the . / A T b
% There are groups of 10 pencils and extra.

Altogether it makes . Answer pencils

There are groups of 10 notebooks and extra.
Altogether it makes . Answer notebooks
There are groups
of 10 blocks and extra.

Altogether it makes

Answer
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Large Numbers

3

~[3EnE How many blocks are there?

Write the numbers in the

2

There are 6 blocks.

Tens Place

On ace

2

20 and 6 make 26.

Write 6 in the ones place.

Two groups of |0 make 20.
(Two sticks have 20 blocks.)
I Write 2 in the tens place.

“26” is twenty-
six. You can read
the number in the

tens place first and

then the number
in the ones place.

How many blocks are there? Write the numbers in the

2

©

Tens Place Ones Place Tens Place Ones Place Tens Place Ones Place
r\v/
OO
4 .5 L6 -
Here is
nothing!
=
Tens Place Ones Place Tens Place Ones Place Tens Place Ones Place
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( Large Numbers )
kl 5 . 4 Numbers Greater than 20 (4) )

b6 has

—»[3EnIE  Write the numbers in the

@@@@@ﬁ’

groups of |10 bananas and

extra.

Write the numbers in the

57 has

]

87 has
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groups of 10 and

groups of 10 and

groups of 10 and

groups of 10 and

groups of 10 and

o

extra.

extra.

extra.

extra.

extra.

groups of |0 colored pencils and extra.
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[ Large Numbers
k1 5 B 5 Numbers Greater than 20 (5)

=»[2EnHE Write the numbers in the

o 72 shows| 7 |in the tens place

Remember it?

and| 2 [in the ones place.

9 The number that shows 7 in the
tens place and 2 in the ones place

7

is| 72 7.

Tens Place

Ones Place

7|2

Write the numbers in the
0 74 shows

in the ones place.

Q 52 shows
in the ones place.

9 37 shows
in the ones place.

in the tens place and

i

in the tens place and

in the tens place and

ﬂ The number that shows 4 in tens place

and 9 in the ones place is

9 The number that shows
and 8 in the ones place is

6 in tens place

0 The number that shows
and 3 in the ones place is

9 in tens place

126

o
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Large Numbers
[15 - 6 ‘ Review (I)

——

I_l_I How many blocks are there? Write the numbers in the

2) 3
| .y

Tens Place Ones Place

Tens Place Ones Place

Tens Place Ones Place

6

I |}

(5
2

Tens Place Ones Place

Tens Place Ones Place

Tens Place Ones Place

I_Z—I Write the numbers in the

0 85 shows

place.

9 96 shows

place.

in the tens place and

in the ones

in the tens place and

in the ones

€) The number that shows 6 in tens place and 6 in the

ones place is

G The number that shows 4 in tens place and 7 in the

ones place is
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Large Numbers |
1 5 - 7 Numbers Greater than 99 )

—»[3EB  Write the numbers in the

There are groups of 10 eggs.

Altogether it makes | |00 |. Answer

“100” is one hundred.

Write the numbers in the

%% There are groups of |10 notebooks.

@w wmm

i

Altogether it makes : Answer

There are groups of |0 biscuits and

Altogether it makes Answer

biscuits

groups
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Large Numbers
1 5 B 8 Arrangement of Numbers (1)

< [3EE Write the numbers in the
number chart.

by looking at the

and 10-19,20-29 ...,and 90-99

H Ol 1 |12|3]4]56]6 819
0 The number that is 2 more than 46.
202112223124 (25]26|27|28 |29
48 30(31|32(33|34(35|36|37|38 |39
40|41 |42 |43 | 44 |45 Ap l;\7 4’8 49
. 50|51 |52 |53 |54|55|56|57|58|59
9 The number that is 3 less than 95. 4 [e]e ez e [esco |67 65 o9
TOT1 72|73 |74 7576|7778 |79
@é In the chart, the numbers from g9 80|81 |82 83|84 |85 |86 87|88 |89
S . . 90|91 |92 ‘2‘3 % 95|96 |97 | 98 |99
@ ® | to 100 are written in order o T

are written in the same row.

Write the numbers in the

by looking at the number chart.

0

2

3

4

5

6

7

8

9

o The number that is 3 more than 46.

10

12

13

14

15

16

17

18

19

20

2|

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

4|

42

43

44

45

46

47

48

49

Q The number that is 8 more than 31.

50

51

52

53

54

55

56

57

58

59

60

6l

62

63

64

65

66

67

68

69

70

71

72

73

74

75

76

77

78

79

80

8l

82

83

84

85

86

87

88

89

q0

gl

q2

q3

94

a5

a6

q7

98

a9

9 The number that is 4 more than 46.

100

What number comes next to 49?

G The number that is 9 more than 31.
9 The number that is |0 more than 31.
O The number that is 5 less than 95.
0 The number that is 6 less than 95.
(8

The number that is 10 less than 95.

o
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i Large Numbers A
K1 5 B 9 Arrangement of Numbers (2) )

—»[FEndB 1 Write the following numbers on the number
line by using the arrows.

O B & 32 E 58
32 58 75

0 10 20 30 40 50 60 70 l 80 90 100

I_I_I Write the following numbers on the number line by
using the arrows.

D 5 ) 8 @ 23 O 9

0 10 20 30 40 50 60 70 80 90 100

—»[3EnB 2 Write the appropriate numbers in the

15 52 86

0 10 20 30 40 50 60 70 80 90 100

|IIII|IIII|IIII"IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

I_Z_I Write the appropriate numbers in the

0 10 20 30 40 l 50 60 701 80 90 l 100

130

W JICA_14E_ZAF5_P122-143. indd 130 $ 2022/02/25 12:19:43(



| —o—

( Large Numbers
\1 5 B 10 Arrangement of Numbers (3)

—»[EFEOE . Write the numbers in the| | by looking at the
number line.

o The number that is 2 more than 53. 55%

53
2
0 0 20 30 40 5&1“ 60 70 80 90 100

9 The number that is 6 less than 43. 37 4

6 43
0 0 20 30 50 60 70 8 90 100
|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II
Write the numbers in the by looking at the number line.
0 10 20 30 40 50 60 70 80 90 100

The number that is 3 more than 55.

The number that is 8 more than 73.

The number that is 4 more than 66.

The number that is 5 less than 27/.

The number that is 8 less than 38.

© 00006

The number that is 7 less than 4b.
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Large Numbers

Arrangement of Numbers (4)

N

J

—»[ZEniE Circle the larger number.

(1) 47 O | 1

I_I_I Circle the larger number.

© | 60 | 57 O | 66 | 72
© 40 29 (4 97 79
@ 23 32 (6 45 H4
I_Z_I Circle the smaller numbers.

(1) Hq 95 (2) 46 64
© 55 66 (4 38 7’7
(5 30 29 (6 70 69

You can use the number line. @@@
20 70 90 100 == :

0 |
|IIII|IIII|

30 40
I|IIII|IIII|IIII|III

o
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( Large Numbers
\1 5 B 12 Arrangement of Numbers (5)

—»[FEmnHE Count and write the numbers in the

97198

Think about how
100 many decrease?

O 195 H96H - 99 -
o—|00—90—80170—60150—401{
Count and write the numbers in the
D 5661 Heslegl |-

%% O dssse | H3eH -
O Ls sl 85~
O 50 H70Hs0H H -
O b HarH HeeH -
O _ s5-i0HIBH HaxsH H k-
@ oo HeslarlH HesH -
O les75H65- 45 -

133
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Large Numbers |
15 - 13 Numbers Greater than 00 (1) )

iguig gl

There are groups of |10 eggs and
|00 and 8 make | 108 |.
D
Noee/¥ 108”7 is one hundred eight. Answer

—»[FEHE  Count the numbers and write them in the

@W@@

8

108 |eggs

extra.

Count the numbers and write them in the

There are groups of |10 biscuits and

|00 and 7 make

There are groups of |10 pencils and

|00 and 5 make

134
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Answer

o

extra.

extra.

pencils

There are groups of |0
I blocks and extra.

|00 and |4 make
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( Large Numbers
\1 5 B 14 Numbers Greater than |00 (2)

N

J

—»[FEmnHE Count and write the numbers in the

ol

o —98—99—|OOA|O|H|02—

@ 109has ﬁandﬁ

Count and write the numbers in the

® gatliool H it -
% 9 osHioe | 13k

O gl Hioil  Hizsk

O LyoldyiHiigk 1 Hie

O Ji30l 1291281  Hiosll  [Hios

@ 107 has and

€ Il nhas and

€) 125has and
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Large Numbers
[1 5 - 15 ‘ Review (2)

I_I_I Write the numbers in the

©O0 00O

I_Z_I Circle the larger number.

ol wm e
® | 50 6|
O | 19 9|

|_3_| Count and write the numbers in the

The number that is 7 less than 56.

The number that is 6 less than 8b.

(2
4
6/

The number that is 9 more than 21.
The number that is 8 more than 32.

The number that is 5 more than 95.

36 63
82 28
33 55

O g

101

|03}

9 9

| 18-

|16

136
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[ Large Numbers
1 5 = 16| Addition and Subtraction (1)

There are bundles of |0
pencils.There are | bundle
and 4 bundles.

—»[3FnB  Solve these addition and subtraction problems.

€ 30-10=20

/

There are bundles of |0
pencils.Subtract | bundle

from 3 bundles.

Solve these addition and subtraction problems.

_________________________________________________________

________________________

________________________

® 30— 20 =
O 50 - 30 =
O 60— 10=
© 80 — 20 =
@ 100 — 60 =
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[ Large Numbers
1 5 = 17| Addition and Subtraction (2)

—»[3FndB  Solve these addition and subtraction problems.

Y >
PR I N 0 B B 0 ) PR N
. ' 1 .
e ' 1 S
' '

“ H H ,
. ' ' .
\ ' ' .

S rmmfmmmmmmeeeeees. | M EBHER | b, .

Tens Place Ones Place ' Tens Place Ones Place /

O 40 +2=]42 O 42-2=|40
40 is 40 and 0. 42 is 40 and 2.
When 2 is added to O When 2 is subtracted from
in the ones place, it is 2. 2 in the ones place, it is O.
%% Solve these addition and subtraction problems.
Tens Place Ones Place “: Tens Place Ones Place ;/
@ 60 + 8= @ 68 —8 =
© 50 + 3 = O H3—-3=
O 40+ 2 = O 42 -2 =
@ 80 + 4 = 0O 84 — 4 =
© 70+ 9= ® 79 — 9 =

138
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[ Large Numbers
1 5 = 18| Addition and Subtraction (3

—»[@EndB  Solve these addition and subtraction problems.

]
a o
KL EE L I R 1 e N
4 1 | .
% ! 1 N
’ 1 ' .
/ H >
< ! .
., ! 1 e
N 1 | ,
5 [ . T P R
| g
2 "
I “ I

Tens Place Ones Place Tens Place Ones Place
@ 25+3=|28 @ 28-3=|25
25 is 20 and b. 28 is 20 and 8.
When 3 is added to 5, it is &. When 3 is subtracted from &,
itis b.
%% Solve these addition and subtraction problems.
Tens Place Ones Place Tens Place Ones Place
O 45+ 3 = O 48 — 3=
€ 23+ 4 = O 27 — 4 =
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Large Numbers
[1 5 B 19 ‘ Review (3)

|_1—| Solve these addition problems.

@ 10+ 30 =

@ 20 + 80 =

O 40+ 6=

@ 20+ 9=

@ 25+ 3=

@ 30 + 50 =

O 40 + 20 =

O 50+ 6=

© 90+ 3=

O 74+ 3 =

|_2_| Solve these subtraction problems.

© 70 - 30 =
© 100 — 30 =
082-2=
@ 53-3=
© 39— 4=

@ 90 — 40 =
O 100 — 70 =
077 -7=
O 34 — 4=
D 68 — 4 =

o




